W’AZ/M 7
Weel 78 “t/
7

5 | cOLs
Q-9

',f..fomlzwa% L’i'tbl
8(_D o0+ —|S e
@ (T = (W -




X | ZDX +75 =0 &M(A:t.c ‘be rvmlos

) b= ear T la
Lo~
= - h

Prseri mu:a»:b

h- = - T=2 =2=-|p \h=-lo

2 AC1) il
BB b Gt (072)

k - (f\oﬁz* 26(-10) + 15 ]

- 100 — A 00 +75 = —~|16o+71G6 = -5

Z> Fi/\A ‘bLﬂ 205 — —]4»\@_ ,',Lz AW&SL

X2+ZOX +7715 =0 EXE_,:’V;

\5 5 = 2.0
(x+3)(x+15)=6  —
Y J
— 5 ~\S AVUML b’y' 0S8
h":- —"54\‘[,-5‘): /-;2‘(_):-[0
— = 7

k= (o+5)(ors) =
((@533(‘93 f Verdex s (-1y,2)



Comlota{'\-/\ﬁ e S@W
\["““Z

X A 2X0x+715=0

Z ZU)(‘) +775 =0 ) T
(X R (j 2_3 %Abr ou+
+ (DO YT o
Z%/ b Hrm
= 100 z '\As‘aka
DS i

(_x 4 20X +loo +75 [00 13 e Fos
PRGN >EFS+N~Q Lt

()é ?,Dx+lbo> ~ 5
\‘7( \@ \mo \[‘U“Lﬁﬁ S\:b\"v‘/\

3 ~ 0\-()4 - L\)’L& k

2
gl
g

b=20,
L)
A

\Perex

(o, -25)
me}z > (@3

)(L+|Ax+lox+ [0
x4 20%x +160



2
' b X +48 =0 Covvert T, vestex +um.

_4_ -
(X ’ TX 1 2) Gt ot
“02’ ) b 7 J\J\)\ ]AS:A-Q_
@ - 2) (3) = () adeike
3% LY % Sfbwﬂ rest Al
%r&‘l‘ (A&+

(@It ) =1k el (1)

@\ N\ L [ (-5 )

(X+8) -1
Find 20 é%_ 8)1»119 =0




20+ Bx + b =0 2z it
( 2, )4—(on Z)

4
2 (x% Uxrd) +b = 6

2 (xl@\!ﬁ#\)—l :
o\ fa o

@ﬂ) ’L@




